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N 1 i} 105,964,359 9707884 0.70 86.7 20.1 14.9
a h it 46,848,236 3,863,363 0.58 86.3 228 209
FOM OB 26,417,992 1,685,994 0.34 87.2 206 196
N E 11,442,239 720952 0.34 926 209 186
oomoE 27,426,143 2890991 0.74 80.1 228 194
[} % il 27,355,047 2,363,164 0.72 83.2 251 164
K M il 15,888,704 986,698 0.34 90.2 235 218
i ¥ il 10,866,115 730,459 042 870 215 173
L= ] 23,461,091 2,195,638 081 82.7 22.7 209
L] ¥ il 16,798,359 937.863 0.24 82.1 26.0 217
H i il 8,981,191 642,566 0.50 871 231 169
0i) G 321449476 26,725,572 052 859 226 189

k 5 ) 4,159,890 230,387 0.20 86.5 24.6 239
AT owE JEHT 6967876 365,284 018 834 29.3 180
i i} iy 6.398.835 634,996 0.73 88.0 20.3 169
Tk # iy 5356911 381,272 045 89.2 254 152
™ ¥ L) 7,281,315 399485 0.26 875 26.0 189
H 73 iy 6,044,694 471,349 052 829 213 206
N B iy 2,051,332 107,043 0.15 825 226 217
Ui Ela fiy 4,914,369 265,375 0.21 86.6 230 206
% i iy 10,560,860 571,820 0.23 85.0 264 255
iy i 53,736,082 3427011 0.32 85.7 24.3 20.1
i iy i 375,185,558 30,152,583 043 85.8 234 195
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B | SO JOORT | BEOGL | JCRAR | kR
MR | % | & | Rk | fltE | Jt o
92.7 30 - - 78 60.9
96.1 84 - - 139 471
944 21 - - 10.0 34.2
94.8 32 - - 123 70.0
91.5 33 - - 6.5 -
93.6 75 - - 11.6 62.7
94.5 86 - - 135 57.1
93.2 59 - - 121 50.9
93.0 6.4 - - 132 136.8
94.0 4.5 - - 10.3 57.7
934 83 - - 132 713
93.7 55 - - 113 59.5
96.5 85 - - 10.1 264
95.2 80 - - 14.0 45.3
914 42 - - 12.1 89.4
930 89 - - 55 -
945 6.3 - - 10.3 -
939 25 - - 9.9 -
94.7 73 - - 9.7 20.1
94.3 2.8 - - 138 50.3
94.8 6.8 - - 11.0 229
94.3 6.1 - - 10.7 28.3
94.0 58 - - 11.0 45.5
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